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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions as directed :
(any ten) 1x10=10

A PR wer e 6 il ¢ (ReeeTt 105))
(i) Define a diagonal matrix.
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(W) Find the value of x, if

x-9 i« 'ﬁcﬁ I, _q_ﬁ

4 5
x9=_4

() If (If) j'(x)=2x2 +3x+2, fj
value of f(-3), (09T f(-3) ﬁ;ﬂi'lﬁljfgﬁ:il)e
2 |

(iv) Evaluate (3 fefy ) o

oAl
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(v) Define a sinking fund
' GO1 HefeHlle Ao sikea fgy
(vi) (130;’/0 profit on S.P. = o
B — % profit
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(viii) Define trade discount.

AR AEE e Tl

(ix) If a is the first ter
comimon difference of an

then the nth term 1S :
(Fill in the blank)
Fq g2 M a ¥ S AR

m and d 1s the
A.P. series,

7l @B e (&
o d T, n O AT S Al
(T 91 739 F0)
(x) Find the cofactor of -1 in the following
determinant :
Wﬁcﬁm—@_mﬂﬁﬁﬁcfﬂaﬁtz
D) de i S RO
& A i
A R

ence between simple

(xi) What is the differ
interest ?

interest and compound
T IS S IR L sfiefey &2
the fourth proportional to 9m,

podl T

(xii) Find 17m
and ¥ 36.
9m, 17m =% 2 369

%4 |
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(xiti) Define ‘objective function’ associated
with linear programming.

SR AR 10 TS Sfeers s 7wl
ferait |

S wld
(xiv) E(TC) = » Where x denotes the

volume of output.

(Fill in the' blank)
d
b TC —

s |

, T x-9q Teofifte AN
(311 3R 757 #)

d >
(xv) x“ + z

Answer the following questions : fany five)

2x5=10
R Rizele 55 e T B ¢
() If (3IW)

2 0 4 8 4 _o
A=628,B=0__2 0 o
the matrix 34+ 2B,
WSA-FQBmﬁ‘ﬁJWI
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1
G 1 @@ FE)=15

then find f {f(x)}-
cors 1 (o)) Rl

(i) Which term of the series 10,4,-2,-8,

... is =104°?
10,4,-2,-8, ... O @0l 2
-104°?

(iv) Find the compound ratio of the
following :

T ST PR SRS e 8
DEEIRE WG 359
i 1SN,
v) The ratio between two numbers 18 y
i If each of them is increased by 14, the
ratio between the new numbers

obtained become 4 : 7- Find the original
numbers.

751 SR SRgeits 2 + 7 | AP RIF IO 14
Qo TR (ol g TR PR e T4 2 7 |
ofgell ik 7o T el

(vi) Define (ke fal) :
(@) Immediate annuity
2o QI

(b) Perpetual annuity

eI
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(Vi) Mr. x bought a cycle for Z 2,000 and
sold it for 3 1

: 800 due to some damage.
Find hig pro

fit or loss per cent.

(viii) At what rate of simple interest per
annum will ¥ 1,500 produce the same
?nterest in 5 years as ¥ 3,125 produce
In 3 years at 49 Per annum ?

e o7 o1 2w 1,500 SR 5 =1 7O
>125 D3R TR 4% v74et s70q g 3 79
TO9 I 279

3. Answer qpn )
following - Y four QUestions from the

5x4=20
T RETET 451 25 e o
@ If (xfy
A= e 0 0 1
[0 1]’ B=[1 o]
(A+B)2¢A2+2A3+32
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(iii)

(w)

(v)

(vi)

Solve (FigiH <41) :

1
1{=0
5

i o
= i =

If x, y, z be the pth, gth andhr;h t:;\r,r;
respectively of an A.P., then p
that

M x, y, z ARG Ol I @R poT,
qo row 2 2, d Pl

x(g-r)+ylr—p)+ z(p—q)=0
Insert 5 geometric mean between 9 and
576. ;
9 W% 576-9 NE© 50l TSI A Oy
401

Discuss the basic assumptions of
linear programming.

R R G (RAPTRR SETl 9

Compound interest for 2nd yea.lr on a
certain sum at 4% per annum 1s D51
Find the C.I. for 3rd year.

TR 4% oq FTS (I LA TR T

S oo 25 T 2T, YOI = bt e
e 2
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ORI EARICASE S fal A (20!
(Vi) Dinesh finished %th of the work in | FL P4 3
9 days and the remaining work he 3x+y+2z=3
finished in 4 days with the assistance | ox-3y-z=-3 " He
of Rajeev. Find in how many days x+2y+z="4

Rajeev alone can finish it.

TG 1 B 2 e O et oTrjef o7 1 (b) Prove that (2 ¥ G :

. b ¢
TR 2 T (08 TG =t =) 4 Frerw RAREROw LG 5
T | AGNR TeCe S Rt o ooy $RA S
A2 W
| (c) Evaluate (3l fefr =)
(viii) Prove that (294 331 @) : , el [ 5
| i + -—6
(x2 -1) gl (|| &
S T
xX—> xX+1- o= ‘ ] 5 t
5. (a) Construct a 3*?2 mamx‘fs;%?; o
OR / 7241 51 3 x 2 GTERET Ao I
Evaluate (S5 @@ 341) 3 ‘ a;i =7§L? 2
i+]
tim V1+2x —4/1-3x SV5
x—> G
(b) 1f (TW) A=[3 5]’
B |
Answer any four questions from the following : then show that (C9C3 Apl )
10x4=40 2 ST
OO 731 SIS [Pt 45 2 G oy 2 10 3
where (I®) I=|4 1
4. (@) Solve the following system of equation
by Cramer’s rule :
Contd.
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18 275, Find the numberstwo s
. &
emw%wﬁm TR Fforeey 54
ﬁqfq %WQW%@W.??S! g @éﬁ%
iy ARt
(b) Fi

ln‘dlthle value of ) Such th

; ﬁ; oioTE i o Sk,
- .P.

§ NN T 3 U :
ST (Mo 2R s S
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(c)

(@)

(b)
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If a, b, c are in A.P. and X, Y, Z are in

G.P., prove that
I a, b, c FWIGE TS W AE X, Y, 2

adied (XTe g, e <+ &

b-c yc—a Za-—b:l 5

X

d interest and simple
n sum of money at
years are

The compoun ]
interest on a certal
a certain rate for 2 i
respectively at 2 920.99 and 2 900. Fin

the rate and the sum- S
I e @] S oY WO 2 TH

m{%wwﬁgmgzo.%ﬁaﬂw
900W|Wﬁaw¢ﬂf{ﬁﬁcﬁlﬂﬁﬂ

stock of 17,500

4%
A person sells ds in 3% stock

and invests the procee
at 74L. If his income increases by

¥ 17.50, find the selling price of 4%

. 1 .
stock (brokerage€ being g% in each

case).

5
9GS gz (9¢9 17,500 T 4% B0 [
IS ol Gt 74%WS%WWWﬁ

(94T Wiy 17,50 B 9@ AT, COWRET 4%
B Rt iy G RO 9 (A0S (RIS

if | 99 —é—o/o)1
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8. (@ A true discount on a bill of ¥ 1,01,000 | @mmﬁﬁmﬁﬁ‘ﬁ 5% sies i |
is X 1,000 at 5% p.a. Find how many | i RS AT 5% WQEF?J Y
days prior to the actual due date was | 1251 TS f?f@ﬁ‘iﬁ'@f @0, (969 10% ©°T®
the bill discounted. 5 oot Gire | AR =S R W e =
1,01,000 5=t SE09 G4 Ko epo 96 2[R | : of tea, 2% is
1,000 5| 3ft 79 W 5% W, OERTE | (b) In mixing two tYPestio e ’costing
Rere w3 AiRciix otk B e o | waztei; ’Ic; bth:l;er; with tea costing
e :iS pper kg so that by selling the

(b) Define (@ Bl 1+1=2 mixture at ¥62.50 per kg, there is a
(D ividends | gain of 25% on total outlay. 5
TejicH! | R DIRAeA el TR 2% 2 ;%ﬁ%
() Market value of a share (e 60 b RPN = ;fi
oo T ol [ AT e S A
SR ] 3 50 Sere RfE SR

© & ffe oA 62

Which is g better investment — 4%

st Bt T 6oiRe 25% 7S TR = IR B
ock at 82 or 4%% stock at 95? 3

<4

82?«4%%3@95%4%%W

1
mwmﬁﬁmﬁmq’a? 10. (@) If @) f(x)=7

O, a
(@ a Person buys an article and sells at a e Gl o

Profit of 5% 1f

had p i
1 ) € ought 9
e:Swpr‘lce and sold it for 3’7gpa1ilzgfl ;eij | flp)-f (q)= f[—gg_] ;
g ould have gaineq 10%. Find th , Ny
ginal cost price. % ;
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1
_efficient of ';'2'

ntinu ; - A
function at x=3 - ity of the followmg Bew mind the chfferentlal co i
b, : s 'rple.
x=3-% O&® I using first prinC
oS 1 3 N RIEL - 1 e BT T
% ﬁQ’[ﬂ @ w xg
41| :
=0 and minimum
T 1 . maxlmum
f(x): gy 185 213 (b) Find the i S
6 : yalues of 2x b o
) f x=3 253 __9x2+12x——1-'€ SED A A
|
(¢) Find the fefa
' g ) ¢ 2i3%0
()  average revenue function (AR), and 12. (@) Integrate (
4 _ ’ A
(ii) Ear;gll?al revenue function (MR) for Q) § (3x +2)* ax
€ 1o OWing total r -
(TR) and evaluate Z:nue function W ie
e (i) x>
5
oS it Yo R . oi+2
oY :
) T (TR)-F sfl— o) svatuate (T e T 2
) 1% [ o (AR), o
(i) e R | 2 fj/zx;ﬂ dx
| 4 f ) 1 \dx
e x —
TR:QS__Q_E+27Q (1) S‘L& &
3
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